RETFAL Bfu FHSOERE SFEEWE 01

RD 2D K. (SHk4sF, Afk1320%, B#k24r, CH34r)
(1) B 10m = 77# m (2) i 900m = Fhis m
(3)  Mdi12m =7k m (4) 43 540m = Pk m
(5)  BE4m = 5rH m (6) 433 150m = Fhkt m
(7) ™ 1.5m = 2l m (8) 43 84m = bl m
(9)  ##9.6m = 4 m (10) 43 520m = Fhkt m
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RD DX (SHAT, Af145720F, B#k 24y, C#e343)

(1)  320m = 7 m (2) i 420m = Pk m
(3) B 9m = srH m (4) 47 360m = ik m
(5) M 5m = 4y m (6) £33 390m = ik m
(1) P 2.5m = 4k m (8)  41H 96m = Pl m

(9) P 3.6m = 4k m (10) 273 530m = ol m
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RD DX (SH4as T, Af14720%, Bk 24y, C#347)

Y P ~m = 298 ~m X 60 29 5.

Y g ~m = HE ~m ~60 29 5.

(1) B 10m = 4#| 600 |m (2) 45 900m = #i#| 15 |m
10 x 60 = 600 900 =~ 60 = 15

(3) Bii12m = | 720 |m (4)  Z#540m = | 9 [m
(5) P 4m = 43| 240 |m (6) 4 150m = P3| 2.5 |m
(7) WK 1.5m = 7% 90 [m (8) S 84m = Wi 1.4 |m
(9)  ®#9.6m =77 576 |m (10) 475 520m = P 8% m
520+60:%:?:8%
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RD DX (SHAT, Af145720F, B#k 24y, C#e343)

(1)  F# 20m = 43| 1200 |m (2) o 420m = | 7 (m
(3)  Fom = 47| 540 |m (4) 47 360m = Bif| 6 |m
(5) B 5m = /r#| 300 |m (6)  4r# 390m = M| 6.5 |m
(7) B 25m =47 150 |m (8) i o6m = | 1.6 |m
(9) B 3.6m =57 216 |m (10) 493 530m — Fbyk 8% -
530+60:%:%:8%
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